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eBiy: 1) yemars s ferrssey s w aloL wallssayb. (12x1=12)
2) apyenL_w afsnL_eows Coin Q5RS 516 GBI BT alenr_ulensoruyd Coi g gy sTapSais.
Note: 1) Answer all the questions.
2) Choose the best answer and write option code with corresponding answer.
1. yelullen M Beom Qaneim_ Quinmei peirmy LeSufeor %qggm und) gyeney T ClemevoT
Ganem geandihE @S58 QeseiL@ans. kG g6 Heaop AL
3 4M <) 2M @) M/4 ) M
The mass of a body is measured on planet Earth as M kg. When it is taken to a planet of
radius half that of the Earth then its value will be _ kg '
a) 4M _ b) 2M c) M/4 dM
2.  Hemellens@ penm @elClevsns pelen (pasennsd GelusHe emeussiu_DsTers,
Blewrellens @ el Lliu@n Curg, @eltestsnans
3)) elifisEn spempsamer o (Heaursew
31) ©NSEGL sHODEMET 2. ([HEUTSHEID
2) PevemsapempEmT 2 HauNsEL
m) Bip&spenmaemnet 2 (HeunsEb
A small bulb is placed at the principal focus of a convex lens. When the buIb is swntched on,
the lens will produce

a) a convergent beam of light , b) a divergent beam of light

¢) a parallel beam of light - d) a coloured beam of light
3. &lCeoneun wenfl sretTLIZ STH@UTMLW 560 ?

" 3)) WergenL etever =) WenasL_581 Sipen

B) Hetr gidPL ) lendpeir

Kilowatt hour is the unit of , -

a) resistivity b) conductivity

. C) electrical energy - d) electrical power

4. SNONG SAMSHET SLNLSTONETENE SHNTEITD 9Ene

S|) SIS WHMID ETEYDLSHEneTLI LTSS @0
2p) Hassamens LUTEEEW0

8) wnilwed GODPUIHGENET 2 ETTL_MEELD
) gflswrer Ceulugems o ([hHaunsELw
Gamma radiations are dangerous because

a) they affect eyes & bones

b) they affect tissues

c) they produce genetic disordered

d) they produce enormous amount of heat

5. &pseuieunnieT 618 epeugm) ggm)aangj?

3 &eEnsGaTen o) affeSwib
an amnumml_c%a;sme(b\ i) enaunL_ o6t
Which of the following is a triatomic molecule?
a) Glucose b) Helium
¢) Carbondioxide d) Hydrogen

6. BIDD SEHIEME HEVLITEATID SI6TOTS

=) Bfled aemrsain_ L 2 Ly

&) Hled serastul L @ epsGanen

8) Bfe aarssiiulL sriurseGul

) SITL6T-L ~F606MUI60) SENISSUILIL L. S0

Identify the non-aqueous solution among the following

a) Sodium chloride in water b) Glucose in water

c) Copper sulphate in water d) Sulphur in carbon-di-sulphide
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o) ariGurenan Cri 23) 150 2y EEQDTE
8) flewi6o CoA - ) emuhGeu

Which is formed during anaerobic respiration ,

a) Carbohydrate b) Ethyl alcohol

c) Acetyl CoA d) Pyruvate

D& bhg amnyssals, s1g Qeusfliyp oybme 1L g Frev®h
VST 6nTS emeans OlamesorL )

o) He =) Ne @) Ar ) Kr
Which of the following have inert gases 2 electrons in the outermost shell
a) He - b)Ne ¢)Ar d) Kr
BswsHer @gwib amp&&uu@mg} 4
31 SA sem , o) AV saml
8) urdlesizd Dempaen - rr) aflevsHenm &6
‘Heart of heart’ is called 3 _
a) SA node b) AV node
c) Purkinje fibres : d) Bundle of His
GreneSit semisssT SrevULEDL SLIb :
3|) SemEseT o) S SETEISST
&) QL ey (Hsen ) engL_Lmest
Node of Ranvier is found in - :
a) Muscles b) Axons
c) Dendrites : d) Cyton
miell oy SléssSeu 551 Crielensteneu es@eurm@m anni G
3)) sws_CLnensedflen op) SpHslem
8) AurevsSlen £ ﬂgéﬂs\ﬂm
The hormone which has positive effect on apical dominance is
a) Cytokinin : b) Auxin
c) Gibberellin A ‘ - d) Ethylene
Semsap O sroammaflsmen 2 meunss LwETLGID Quent@urmsT 61512
<)) Paint : =) PDF &) MS Word /) Scratch
Which software is used to create animation? : ‘
a) Paint -~ "~ b)PDF . - c) MS Word. d) Scratch
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&Ly: sremaiCugys gup IamESE5ES S wellésay. (s rw afsmr 22)

Note: Answerany 7 questions. Question No.22 is compulsory. (7x2=14)

13. sﬁlsmaeug,@a) 2 _enen ellevorQleuafl eSym eTeucumm L&g_;.g,.ﬂmnn? ,
How does an astronaut float in a space shuttle? :

14. @wedy eury WHDID Bevedweoy euryy - CaupuB S g1s.
Distinguish between ideal gases and real gases.

15. empg obleod, iblesflu 2 Coonaseng Qswsoun Hleness p_.l_u®§,gjm T6u?

" Name the acid that renders aluminium passive. Why? .
16. Glasrésiu Berar sapm wopd sryerrisaflsd) FfiumsL Qun@gﬂu/mmmg

&ipsmesr aflsnssaflsr o galuy_cr Coia) CFUIS TUpSIS.
SaMmI: B - Aemazelen Gurg @g_y_rmsm sisvoTenilé enaulley ooty @mmaﬂmgl
stgemid: P - Hevgelen Gurgl, i@l 16wt éqéleslﬂ&sﬂgg]
S Sabm LHMID S TesTD C-;d,ailuj Bremwn &fl.

Giogyitd, STIEWTD SnhMI&E Fhwren elenssin SmADSI
24) SaDml WHDILD STFETETLD a{,élm Srem(@in il

v a{,smns\) STIEmTD SaHMIGE sNwnes ellen&Hawe060

B) sappy 5 gyevTeL ETTEID Seum
) Sad@ Seuml HMID srresd &l
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i9.

Mark the correct choice as.
Assertion: In a p-decay, the neutron number decreases by one.
Reason:  In f-decay atomic number increases by one.
a) Both the assertion and the reason are true
and the reason is the correct explanation of assertion

- b) Both the assertion and the reason are true,

but the reason is not the correct explanation of the assertion
¢) Assertion is true, but the reason is false

d) Assertion is false, but the reason is true

Cluin @5 & sy .

1. BlenGeommi_Lib - 1) Geunsol_
2. Dewren (g8 Ceumiun@® - o) eum

3. Blepein - @) P

4. \DesresnHmev - ) gpoLwm
Match the following.

1. Current j - _' a) Volt

2. Potential difference - b) Watt

3. Power of current = ¢©)Joule .

4. Electrical energy - d) Ampere

sfwun? seupn? s stupsis. Sainy sreflsd sapilevar w5 51s.
LHS CUTWHSET MBS FID FROED) PPEVSHTn MISGET oy (&LD.

Write as True or False; If false, give the corrected statement.
Noble gases are Diatomic.

QaEr@&H&ILL_ L

UL S605 euenihgl

A, B ursrisemes &n&sa.

Draw and Label

A, Bpartsofthe

following diagram. _

Yenaliugne eumb 2 Crrismens GOILNGs.
Mention two diseases caused by tobacco smoking.

oellgens alled eTeoTmTEL srmsur’?
Define reflex arc.

08 Gomev/eSi-1

R HOTFESIET EHADL_ T cgqmsuﬂuﬁhm Qeley 1x1
pH wéllienu &nevurs.
Calculate the pH of a solution in WhICh the concentratlon of the hydrogen ions is

1.0 X 10—8 mol Iltre—l

stesflev &éamues\ﬂsin
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&y aemaCugyh aep aflomssense e weallssays. (s L mw aﬂanr 32)
Note: Answer any 7 questions. Question No.32 is compulsory. (7x4=28)

o)) BCrlw 2Ly - auemrwuml.

o) Coiisema o608l sabiens allemest euemyW M.
a) Define Hydrated salt.

b) Define combination reaction.

@) Pevsurtistsaier Cupsmer sumetauns QHULSI smn?
) Lniien eflemeney 6T6TDIED 6160160 7
a) Explain why the ceilings of concert hallsare curved.

b) What is Doppler effect?
ereflw &L GLneflerr QUWEDIWD epevsion Dl QUTLILILITL enL-W{D 6T(LHSISH.
Name the simplest ketone and give its structural formula.
@ﬂdq'mmms: o) Qgsﬁh;qu.t &EOTFE)

o) Qgelllng smyse (10-siflefwed-3 )
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30.

31.

32.

Write notes on: i) Saturated solution i) Unsaturated solution |

LT Clegevomaeir ereueumy Beor wisluE S giflempen? Bbwr &UUT g enen gelliré @
suflpenm Brewr® TP SIS _

How do detergents Cause water pollution? Suggest remedial measures to prevent this pollution,
Sl uled BenL GQumip BLOuUWiES HapsHulen g Bleneosenen 61(1psis.

How does locomotion takes place in leech? . :
Swelegnid, famraenib seniviiGen SlqtiuenLufled sreeunm) GeugL@dsimpen?
How are arteries and veins structurally different from one another?
&CrnCGunCsnifleir SAmwlemy eflaufsseayb.

Explain the structure of 3 Chromosome.

) sfley Bir & D DI&FESpedled SIPUBSSID eeneneyser wreneu?

<) Gl Lneo_ e erempmed steimen? |

a) What are the environmental effects caused by sewage?
b) What is Metastasis?

3Cls.18 2 WIF(p 6 e Qurr(r_r)Q‘mnsiﬂ@ 15Q&.18 GNussTemevey Q& esrL
GPClevsnnhe, wetune 1008 O snemeveilsy naussSLILOEAD S stafled Qevetdleumed
2 (heunssLu@ib AbLgSer 2 WTSenss &S (O 1g..

An object of height 3cm is placed at 10cm from a concave lens of focallength 15cm. Find the
size of the image.
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&Hly: ymens sy aﬂmlréds@é@lb Sl waflésays.

CEmarsr Qi_msafled 1 i U s.. v (3x7=21)

Note. Answer all the questions, Draw the diagram wherever necessary.

33.

34.

35.

) 1) Qungy miriwed Sfulenen samys. oyz60 saflsalue @s5Hrs5ms SHelss. (5)
i) @ eo_ulletr SouysHsn cuenmugy. 2

- (v g1)
<p) 1) AL Ouniienes wHmib srmiumiene GmpurGseme Caupu@ssis.  (5)
i) Boudfas auemmupy. . (¢))
-a) i) State the universal law of gravitation and derive its mathematical expression. (5)
ii) Define moment of a couple. (2) ' '
(OR). |
b) i) Differentiate the eye defects: Myopia and Hypermetropia. (5)
ii) Define dispersion of light. )

) 1) sy eunpeled pH eteeuny oS LrkE, mﬂéﬂmg‘? (5)
i) el Caemaefles Bieurp o uifemmigen SFsD eunphermen. o567 (2)

(yoowg) o
=) i) melferr oamsQaretanaulsn Carlur@sst Csemib BBS e s1psys. (5)
i) siem&s_® revor - eusmIw M. (2)
a) i) Explain how pH plays an important role in daily life? (5)
ii) Aquatic animals live more in cold regions. Why? (2)
(OR)
b) i) Write any five salient features of "Modern atomic theory”, (5)
ii) Define Atomicity. - (2)
2A) 14663167 BieMIDLILY Teueun Of 2 (Heumeujemengy? 46760 7efl6br 2 ufifluwico
WEAWS Fleud wimg? : (M ’
(So0g))

&) 1) wemem ALt benenr arreflser wremeu? (3)
i) wemewrfliSlenmed 2_eim_resomnw elenenayaen wreneu? (4)
a) How is the structure of DNA organised. What is the biological significance of DNA? (7)
‘ (OR)
b) i) What are the agents of Soil erosion? 3)
ii) What are the consequences of Soil erosion? 4)

il 10'@{[6’6191116{3-74 ’
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